

$$f(n) = \begin{cases} a + \sqrt{ar} \\ b\sqrt{ar} \end{cases}$$

مرکز بیاف $14, 8$ از هم جدا $n < 1$ $n > 1$

$$f'(n) = \begin{cases} 1 \\ \frac{b\sqrt{ar}}{r\sqrt{ar}} \end{cases} \quad n < 1 \quad n > 1 \quad \frac{rb}{r} = 1 \quad b \cdot \frac{r}{r} = a = \frac{1}{r} \quad a + b = r \quad \textcircled{1}$$

$$f(n) = \frac{|rn - r|}{\sqrt{ar}} \quad g(n) = \frac{\sqrt{n^2 - rn + r} + \sqrt{rn}}{\sqrt{ar}} \quad f'(1) = g'(1) \quad \left(\frac{\sqrt{r}}{r}\right) \quad \textcircled{2}$$

$$f'(1) = \frac{-r(1) - r(r)}{1} = -\frac{1}{r} \quad g'(1) = \frac{-a}{r} - \frac{\sqrt{r}}{r} \quad \checkmark \quad \textcircled{2}$$

$$f(n) = \begin{cases} bn + c \\ \frac{1}{n} \end{cases} \quad n < a \quad n > a \quad \begin{cases} ab + c = \frac{1}{a} \\ b = -\frac{1}{ar} \end{cases} \quad \begin{cases} c = \frac{r}{a} \\ ar = r \end{cases} \quad \textcircled{3}$$

$$f(n) = \begin{cases} b \\ b + (n-a)^m \end{cases} \quad n < a \quad n > a \quad f'(n) = \begin{cases} 0 \\ m(n-a)^{m-1} \end{cases} \quad n < a \quad n > a \quad \textcircled{4} \quad \textcircled{1, 0} \quad m-1 < 0 \quad m < 1$$

$$g' \cdot f'(g(n)) = f'(g(n)) \quad g(n) = \frac{1}{rn^r} \quad f(n) = \frac{1}{r\sqrt{rn}} \quad n < 0 \quad n > 0 \quad \textcircled{5}$$

$$f(g(n)) = n \quad (f(g(n)))' = 1 \quad \checkmark$$

$$y = -ax \quad y' = -a \quad \left| \frac{r}{ra-a} \right| \quad f(r) = -ra - a \quad f'(r) = -a \quad \frac{f'(r)}{f(r)} = \frac{-a}{-ra-a} = \frac{1}{r} \quad \textcircled{6}$$

$$\left(\log\left(\frac{r}{\sqrt{n}}\right) \right)' = g'\left(\frac{r}{\sqrt{n}}\right) f'\left(g\left(\frac{r}{\sqrt{n}}\right)\right) \quad \frac{(-\sqrt{r})(4r)}{-12\sqrt{r}\sqrt{r}} = \frac{(-\sqrt{r})(4r)}{-12\sqrt{r}\sqrt{r}} \quad \textcircled{7}$$

$$g(n) = f(n+1) + f(n+10) \quad g'(-r) = f'(-1) + r f'(r) \quad \textcircled{8}$$

Subject: _____
Year: _____
Month: _____
Day: _____

Page: ()

$$\lim_{h \rightarrow 0} \frac{f(a+h) - f(a) - f'(a)h}{h^2} = \frac{f''(a)}{2} = \frac{-10}{12} \times \frac{1}{2} = \frac{-5}{12}$$

$$f(a) = 2$$

$$y = x^2 - 4x + 4$$

$$4y - 2a = 1 \rightarrow y = \frac{x}{4} + \frac{1}{4}$$

$$y' = 2x - 4$$

$$m = \frac{1}{4} \rightarrow m' = -\frac{1}{4}$$

$$2a - 4 = -4$$

$$2a = 0$$

$$a = 0$$

$$\frac{1}{4}$$

$$f_{-}(a) = f_{+}(a)$$

$$m = 0 \rightarrow \text{مشتق در آنجا صفت}$$

$$m = 1 \rightarrow f'_{-}(a) = 0, f'_{+}(a) = 1$$

$$m = 1$$

$$m > 1 \rightarrow f'_{-}(a) = 0, f'_{+}(a) = m \frac{(x-a)^{m-1}}{a-a} = 0$$